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1. Answer the following as directed : 1x8=8

(@) Mean deviation can be computed based

on
(i) arithmetic mean
(i) median
(ij) mode
(iv) All of the above
( Choose the correct answer )
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(2% | (3)

(e) Mention one limitation of harmonic

|
|
BJiToas |
certaj !
rtain the Significance of the valué #‘ mean.

of r, the techn;i

used., que of probable error 18

() Fisher's ideal index does not satisfy

( Write True or False!
(i) time reversal test

(¢) Those ey oy

3 the 1
Prevents the r O_Ceurrence of which . (i) factor reversal test
oceur, are kxf) obability of the other 0
Own as (fii) unit test
() muty
all : :
Y exclusive events (iv) circular test

( Choose the correct answer )

i]
(i1) equally likely events -

(i) exh
austi . o -
A €vents (g9 In case of normal distribution, the

coefficient of skewness is
( Fill in the blank)

1
(iv) dependent €vents

( Choo
s
€ the correct answer)
r correct

(@) The (h) The error of rejecting & true o

Value

Correlation COef%i- Spearman’s  rank hypothesis is

: (D) ranges from '

M50 to + 1 | (i) type-1 error

@ - to +1 (i) type-IlI error

(1) S ; * (i) sampling €rror

i
(iv) (iv) probable error
swer )
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2. WI‘ite ShOI‘t n

otes
(Within 1850 o Y four of the followint

w
ords each) : 4xd? ‘

(@) Ppr
Operties
of regression coefficients

(b) Poj
SSOn distribyt
ribution |

{c)

T 3
€sting of hypo hasrs

(d) Fi
xed-base |
and  Chain-base inde* i

Numberg
€ M
ethod of least Squar 1
. es |
3. (a)
Define
e dif?’i{:: rtless and kurtosis. Discus®
Y 1SC
skeWness Mmethods of measuring I
2+241°
(b) From i
the
Calculate v
- g i . -
o andth missing f; dlsmb}lnon'f
median e requenciles 1
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(5)

Or

(b) In an experiment on 164 people with

were given a certain
were given sugar
reactions to the
n the following

colds, half of them
drug and half of them
pills. The patients’

treatment are recorded 1

table :
Helped Harmed | No effect Total
L U b vt 7
Drug 52 10 20 82
e b el
Sugar pills 44 12 26 82
Total 96 22 46 164

On the basis of this data, can it be
concluded that there is a significant
difference in the effect of the drug and

sugar pills? [The value of 32 for 2
degrees of freedom at 5% level of

significance is 5:09]

e the concepts of

5. (@) Explain with exampl
' 2x6=

the following :

() Sample space

(i) Equally likely events

(iij) Mutually exclusive events
(iv) Exhaustive events

(v) Favourable events

(vi) Random experiment
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(6)
(7)
Or
(b) There are 3 7. (a) Discuss the use of index numbers for
2 StatisticjaneconomiStS’ 4 engineers deflating other series. Also mention the
4 S 2 . .
Committee of 4 andy 1. doctor. i problems of  constructing index
selected. Fing t:hn‘nf:mbers from them i$ numbers. 6iE=]1
Committee has_._e Probability that the a2
{i) One | 4
of each . |
o kind-
(@) at least 5 () With the help of the following data,
(i) th One €conomist; construct Fisher’s ideal index, and show
3 t; doctor a5 4 it that it satisfies both time reversal and
£F8- mber and thre€ factor reversal tests : 5+3+3=11
- 4+4+47)
 (a e e e ¥ I
(@) Define L s Base Year Current Year
rank Co]'relati Ommodlty
Pover Correlation c v .Ca.lc:ulate the Price () | Quantity Price () | Quantity
povery s 0 coefcient_between | | Quantty | Prie@ QU7 |
Wing dagy o CrOWding from  the A 6 50 10 56
Povery, ] 2 _,_ggll T DY
3 17] 13 B 2 100 2 120
verg, 3 15 16 e .._-—-—-—'—'"‘-—-——-—_-——-—-——'—‘
OWding | 36 463 6|11|14|9 | 7|12 RS 4 60 6 60
2[24]12]18]27)22| 2 | 8 D 10 30 12 24
E 8 40 12 36
! _____,,__,____.____—L_______
i
‘: Aok K
(i) the s tWO regy |
St |3 €Ss] ! |
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